[image: image1.png]15b)
Fod £ osing ’J()rv(u)'wn Voo

D e Jak -]

oo = 3 (w) Yoo bor
B =t :wﬁrfﬁ\ﬁ

fread Vo, o edye o AFE }

WA b, | Dlsemlanstfen

=020 | D 35970
g = Y5834





[image: image2.png])

0= 15%
D= Ton

Vs T

INENIYS )
%5&8: \ b+ ‘2}48
E‘Mﬂ =\t
0t t \/ Tk

Fo = ( 3. 0bs

15 ooy < 229%
By





[image: image3.png]e
R

= Yodm

ANE

e, = Vo, Ko
Yoaa = 25 as2o by,

Youg - k-
—_szo 20 170

N
A o=29¢





[image: image4.png]) )
%\/3 =05 ke

\Lizg? { P
5:15 - 95sinTo= -0t
6,27 Sueh k- 255 = t;o
N ho
Sortc Dy = Dy,
b th Ie i &

o bt (Vo7 R
on \M\ groand
cesulk n the sems MY (8 §§)(73§> (2\ o) JQ

‘Ee% &Vﬁ: sk

0~ %sine
—lo

=t
)

dbly
EDS&S . s,.za (8 59 239)- mfﬁ
D)Eiﬂzzc_)A sinde

9\
o 2 &xr(zzr 5.20

2>





[image: image5.png];’é'//\
> 2 N

2on
Vi,]: ‘D§ /;V};At‘t
b g TR
Mt
= (20 s w)(5)
N = e

D~ Mg

24.64- 20

14.64m

Plaser wosk con 1.0y
Mmore meders in Y

L e





[image: image6.png])35 o ———= ) Bxx:{“uo

P L 0]
Vous3s &yr \r‘j{‘ le]tl

20 = <\Ls;«3§>t+lz(—wo 'S

Zo= Vsz: BO} g(ﬁ\i

Soor G osse
20— 13osin3s _ 130%
Tsw N ((,,ﬁy
~71.03 = - 12x107
v
Vo et
¢ oy

V=g e





[image: image7.png]:7 J"r-v\g vs 0ilecea
o0 Jifeecenk plenets

by BY
Ojpluna
1
- 2=3-
& ;2 T
L.
E /J U=2+2
-0





[image: image8.png]Fa) % et
&% RS b2
D= of
0=Ngue= -0k
+Vgays .3
oo Ay

W

V=5 uge oo oty

~ phoony
A\ll«mf Oxmm,fc
- S4B sits - ~% JC o MC(W)
232 RLL

-t Wl Bl
13222y \onw: Mg





[image: image9.png]qle
> Pt T

A%,:(,L*iod}
N, - (100 s 53934 5 (30 mgg} &)

Dol = 260 m

Pret T
Am:kv‘z%g
= (10 wss3)(22.49)
Dly= 371506 ™
A e DY Dy

= 2617+ 3506
O = 37769 m






[image: image10.png]COD)
Pk T = 2secs
e 5 £,

o et ,V /j;a

RN ]
S it %3
— 7Y = (HO SnSE - Sétlj
br 3249
/¥@+ =k +t,

7 3+3249
T By





[image: image11.png]AP CHw pg. 77 #49, 51 55, 57, 71 73

ua)“) N Loz hos b e done
\\/,‘J R in o pocds
S O 30%’ ble Here oce
A v, = 10e o e acwslecakis
ank 345 , = from Pt T
driade = '
AT s
= (g3
= Y35m
hzz ?w¥ T »@; l\w%&m
nesd \J,l:\]F (W+1) — 53
A= at b= 2474w
Ve = 3{2) + oo —_—
LENCES)) o:(mow@j 20 D\
ot ’(I‘\owszﬁ
q%%j*loﬁlsy\a e
2V iz~ Drshe
Vv, TN
(ns) W =k b= 300 124

= 4966+




